
6x3x2m

Large Chicken Coop

Owner’s Manual

email：support@aefba.com



      6X3X2m     LIST OF MATERIALS
PART
NO.

DIMENSION STYLE PIC QUANTITY

① 1420mm 4

② 1925mm 15

③ 970mm 8

④ 1540mm 8

⑤ 1820mm 2

⑥ 630mm 1

A
312+1595mm
310+1595mm

500mm

Door left
Door right
Door buttim

1
1
1

D 4

E1 2

E2 2

F 4

G 2

H 4

I 2

J 2

Parts
Package

Hinges: 2 pieces
Lock: 1 set
Clips: 6 pairs
U Clips: 2 pieces
Roof: 1 pieces
Rubber rope: for roof
Binding Wire: 1 plate
Cable ties: 1 package
M8 square heard screws: 8
M8 screw nuts: 8
M10 square heard screws: 4
M10 screw nuts: 4
Electro hex: 1 pieces,total 26 meters

1



I
II

III

E2

E2

E1E1

G
F

G

F

F

F

I
 1 : 10 II

 1 : 10

III
 1 : 10

IV

IV
 1 : 10

1.

2.

6x3x2m



V

VI

D

H
D

D

D

D

D
H

H

H

H

H

V
 1 : 10

VI
 1 : 10

VII VIII

VII
 1 : 10

VIII
 1 : 10

3.

4.

6x3x2m



A
B

C

D

D
D

E1

E2

 

6x3x2m

email：support@aefba.com

人生
Line

人生
Line


